

This paper is withdrawn by the request of the Editorial Board on the basis of the paper entitled “Remarks on two recent results about polynomials with prescribed zeros” by M. A. Qazi published in Sarajevo J. Math., Vol.9, No.2 (2013), 217–220. The Editorial Board are expressing their gratitude to Professor M. A. Qazi.

GROWTH OF THE MAXIMUM MODULUS OF POLYNOMIALS WITH PRESCRIBED ZEROS

K. K. DEWAN AND SUNIL HANS

ABSTRACT. If $p(z)$ be a polynomial of degree n which does not vanish in the disk $|z| < k$, then for $k = 1$, it is well known that

$$\max_{|z|=r<1} |p(z)| \geq \left(\frac{r+1}{2} \right)^n \max_{|z|=1} |p(z)|,$$

and

$$\max_{|z|=R>1} |p(z)| \leq \frac{R^n+1}{2} \max_{|z|=1} |p(z)|.$$

In this paper, we consider a class of lacunary polynomials and present certain generalizations as well as improvements of the above inequalities for the two cases $k \geq 1$ and $k < 1$.

1. INTRODUCTION AND STATEMENT OF RESULTS

Let $p(z)$ be a polynomial of degree n and let $M(p, R) = \max_{|z|=R} |p(z)|$. Then it is a simple consequence of maximum modulus principle (for reference see [6, vol. I, p. 137, prob. III, 269]) that

$$M(p, R) \leq R^n M(p, 1) \text{ for } R \geq 1. \quad (1.1)$$

The result is best possible and equality holds for $p(z) = \alpha z^n$, where $|\alpha| = 1$.

It was shown by Ankeny and Rivlin [1] that if $p(z) \neq 0$ in $|z| < 1$, then inequality (1.1) can be replaced by

$$M(p, R) \leq \frac{R^n+1}{2} M(p, 1) \text{ for } R \geq 1. \quad (1.2)$$

2000 *Mathematics Subject Classification.* 30A10, 30C10, 30C15.

Key words and phrases. Polynomials, maximum modulus, zeros, extremal problems.

The above inequality is best possible and equality holds for $p(z) = \alpha + \beta z^n$, where $|\alpha| = |\beta|$.

For the polynomials of degree n and $r < 1$, applying (1.1) to the polynomial $p(rz)$, taking $R = 1/r$, gives $|p(e^{i\theta})| \leq r^{-n} \max_{|z|=1} |p(rz)|$ for $0 \leq \theta < 2\pi$. Hence,

$$M(p, r) \geq r^n M(p, 1) \text{ for } 0 \leq r < 1, \quad (1.3)$$

where equality holds if and only if $p(z) = \alpha z^n$.

If $p(z) \neq 0$ in $|z| < 1$, then Rivlin [7] proved

$$M(p, r) \geq \left(\frac{r+1}{2} \right)^n M(p, 1) \text{ for } 0 \leq r < 1. \quad (1.4)$$

Here equality is attained if $p(z) = \alpha(z - \beta)^n$, $|\beta| = 1$.

Inequality (1.2) was generalized by Aziz [2] for the polynomials having no zeros in $|z| < k$, $k \geq 1$ and proved the following result.

Theorem A. *If $p(z)$ is a polynomial of degree n , which does not vanish in $|z| < k$, $k \geq 1$, then*

$$M(p, R) \leq \frac{R^n + k^n}{1 + k^n} M(p, 1) \text{ for } R > k^2, \quad (1.5)$$

provided $|p'(k^2 z)|$ and $|p'(z)|$ attains the maximum at the same point on $|z| = 1$. The result is best possible and equality holds for $p(z) = z^n + k^n$.

On the other hand for the polynomials not vanishing in $|z| < k$, $k < 1$, the following inequality has been recently proved by Dewan and Hans [3].

Theorem B. *If $p(z)$ is a polynomial of degree n , which does not vanish in $|z| < k$, $k < 1$, then*

$$M(p, r) \geq \frac{r^n + k^n}{1 + k^n} M(p, 1) \text{ for } 0 < k < r < 1, \quad (1.6)$$

provided $|p'(z)|$ and $|q'(z)|$ attains the maximum at the same point on $|z| = 1$, where $q(z) = z^n \overline{p(1/\bar{z})}$. The result is best possible and equality holds for $p(z) = z^n + k^n$.

In this paper, we firstly generalize Theorem A to the lacunary type of polynomials $p(z) = a_0 + \sum_{\nu=\mu}^n a_\nu z^\nu$, $1 \leq \mu < n$, by proving the following result.

Theorem 1. *If $p(z) = a_0 + \sum_{\nu=\mu}^n a_\nu z^\nu$, $1 \leq \mu < n$ is a polynomial of degree n , which does not vanish in $|z| < k$, $k \geq 1$, then*

$$M(p, R) \leq \frac{R^n + k^n(1 + k^{n-\mu+1}) - k^{2n}}{1 + k^{n-\mu+1}} M(p, 1) \text{ for } R > k^2, \quad (1.7)$$

provided $|p'(k^2z)|$ and $|p'(z)|$ attains the maximum at the same point on $|z| = 1$.

Remark 1. For $\mu = 1$, Theorem 1 reduces to inequality (1.5) due to Aziz [2].

Our next result is an extension as well as generalization of Theorem B. More precisely, we prove

Theorem 2. *If $p(z) = a_n z^n + \sum_{\nu=\mu}^n a_{n-\nu} z^{n-\nu}$, $1 \leq \mu < n$ is a polynomial of degree n , which does not vanish in $|z| < k$, $k < 1$, then*

$$M(p, r) \geq \left(\frac{r^{n-\mu+1} + k^{n-\mu+1}}{\lambda^{n-\mu+1} + k^{n-\mu+1}} \right)^{\frac{n}{n-\mu+1}} M(p, \lambda) \quad \text{for } 0 < k < r < \lambda \leq 1, \quad (1.8)$$

provided $|p'(z)|$ and $|q'(z)|$ attain maximums at the same point on $|z| = 1$, where $q(z) = z^n \overline{p(1/\bar{z})}$. The result is best possible and equality holds for $p(z) = (z^{n-\mu+1} + k^{n-\mu+1})^{\frac{n}{n-\mu+1}}$.

If we take $\lambda = 1$ in Theorem 2, then inequality (1.8) reduces to the following result.

Corollary 1. *If $p(z) = a_n z^n + \sum_{\nu=\mu}^n a_{n-\nu} z^{n-\nu}$, $1 \leq \mu < n$ is a polynomial of degree n , which does not vanish in $|z| < k$, $k < 1$, then*

$$M(p, r) \geq \left(\frac{r^{n-\mu+1} + k^{n-\mu+1}}{1 + k^{n-\mu+1}} \right)^{\frac{n}{n-\mu+1}} M(p, 1) \quad \text{for } 0 < k < r \leq 1, \quad (1.9)$$

provided $|p'(z)|$ and $|q'(z)|$ attain maximums at the same point on $|z| = 1$, where $q(z) = z^n \overline{p(1/\bar{z})}$. The result is best possible with equality holds for $p(z) = (z^{n-\mu+1} + k^{n-\mu+1})^{\frac{n}{n-\mu+1}}$.

Remark 2. For $\mu = 1$, Corollary 1 reduces to inequality (1.6) due to Dewan and Hans [3].

2. LEMMAS

We need the following lemmas for the proofs of these theorems.

Lemma 1. *Let $p(z) = a_n z^n + \sum_{\nu=\mu}^n a_{n-\nu} z^{n-\nu}$, $1 \leq \mu < n$ is a polynomial of degree n , having no zero in $|z| < k$, $k \leq 1$ and $q(z) = z^n \overline{p(1/\bar{z})}$. If $|p'(z)|$ and $|q'(z)|$ attain maximums at the same point on $|z| = 1$, then*

$$M(p', 1) \leq \frac{n}{1 + k^{n-\mu+1}} M(p, 1). \quad (2.1)$$

The above lemma is due to Dewan and Hans [4].

Lemma 2. *If $p(z)$ is a polynomial of degree n , then for $|z| = 1$*

$$|p'(z)| + |q'(z)| \leq nM(p, 1), \quad (2.2)$$

where $q(z) = z^n \overline{p(1/\bar{z})}$.

The above lemma is a special case of a result due to Govil and Rahman [5].

3. PROOFS OF THE THEOREMS

Proof of Theorem 1. Since $p(z)$ has all its zeros in $|z| \geq k \geq 1$, it follows that the polynomial $H(z) = p(kz)$ has all its zeros in $|z| \geq 1$. Now if $q(z) = z^n \overline{p(1/\bar{z})}$, then the polynomial $G(z) \equiv z^n \overline{H(1/\bar{z})} \equiv z^n \overline{p(k/\bar{z})} \equiv k^n q(z/k)$ has all its zeros in $|z| < 1$. Moreover $|H(z)| = |G(z)|$ for $|z| = 1$, it follows by the maximum modulus principle that

$$|H(z)| \leq |G(z)| \text{ for } |z| \geq 1. \quad (3.1)$$

Hence for every complex number λ with $|\lambda| > 1$, it follows by Rouché's theorem that the polynomial $H(z) - \lambda G(z)$ has all its zeros in $|z| < 1$. By the Gauss Lucas theorem the polynomial $H'(z) - \lambda G'(z)$ has all its zeros in $|z| < 1$, which implies

$$|H'(z)| \leq |G'(z)| \text{ for } |z| \geq 1. \quad (3.2)$$

Substituting for $H(z)$ and $G(z)$ in (3.2), we get

$$k |p'(kz)| \leq k^{n-1} |q'(z/k)|. \quad (3.3)$$

Since $a_1 = a_2 = \dots = a_{\mu-1} = 0$, from (3.3), we get

$$k^\mu \left| \sum_{\nu=\mu}^n \nu a_\nu (kz)^{\nu-\mu} \right| \leq k^{n-1} |q'(z/k)| \text{ for } |z| \geq 1. \quad (3.4)$$

In fact (3.4) holds for $|z| = 1$. But $q'(z/k) \neq 0$ in $|z| > 1$, by the maximum modulus principle it also holds for $|z| > 1$. Taking kz instead of z in (3.4), we have

$$k^\mu \left| \sum_{\nu=\mu}^n \nu a_\nu (k^2 z)^{\nu-\mu} \right| \leq k^{n-1} |q'(z)| \text{ for } |z| \geq 1/k.$$

In particular,

$$k^\mu \left| \sum_{\nu=\mu}^n \nu a_\nu (k^2 z)^{\nu-\mu} \right| \leq k^{n-1} |q'(z)| \text{ for } |z| = 1,$$

this implies

$$k^{2-\mu} \left| \sum_{\nu=\mu}^n \nu a_\nu (k^2 z)^{\nu-1} \right| \leq k^{n-1} |q'(z)| \text{ for } |z| = 1.$$

Consequently

$$k^{3-\mu} |p'(k^2 z)| \leq k^n |q'(z)| \text{ for } |z| = 1,$$

which gives with the help of Lemma 2

$$k^{3-\mu} |p'(k^2 z)| + k^n |p'(z)| \leq nk^n M(p, 1) \text{ for } |z| = 1.$$

This, by hypothesis, implies that

$$k^{3-\mu} \max_{|z|=1} |p'(k^2 z)| + k^n \max_{|z|=1} |p'(z)| \leq nk^n M(p, 1). \quad (3.5)$$

Now $p'(z)$ is a polynomial of degree $n-1$ and $k \geq 1$, therefore, by (1.1), it follows that

$$\max_{|z|=1} |p'(k^2 z)| \leq k^{2(n-1)} \max_{|z|=1} |p'(z)|.$$

Using this in (3.5) we get

$$(k^{n-\mu+1} + 1)k^2 \max_{|z|=1} |p'(k^2 z)| \leq nk^{2n} M(p, 1).$$

Applying (1.1) again to the polynomial $p'(k^2 z)$, we obtain for all $t \geq 1$ and $0 \leq \theta < 2\pi$

$$k^2 |p'(k^2 t e^{i\theta})| \leq \frac{nk^{2n} t^{n-1}}{1 + k^{n-\mu+1}} M(p, 1). \quad (3.6)$$

Now for each θ , $0 \leq \theta < 2\pi$ and $R \geq 1$, we have

$$p(k^2 R e^{i\theta}) - p(k^2 e^{i\theta}) = \int_1^R k^2 e^{i\theta} p'(k^2 t e^{i\theta}) dt.$$

This gives with the help of (3.6)

$$\begin{aligned} |p(k^2 R e^{i\theta}) - p(k^2 e^{i\theta})| &\leq \int_1^R k^2 |p'(k^2 t e^{i\theta})| dt \\ &\leq \frac{k^{2n}}{1 + k^{n-\mu+1}} \left\{ \int_1^R n t^{n-1} dt \right\} M(p, 1) \\ &= \frac{k^{2n}(R^n - 1)}{1 + k^{n-\mu+1}} M(p, 1). \end{aligned} \quad (3.7)$$

Since by (3.1), we have in particular

$$|H(kz)| \leq |G(kz)| \text{ for } |z| = 1,$$

this implies

$$|p(k^2 e^{i\theta})| \leq k^n |q(e^{i\theta})| = k^n |p(e^{i\theta})|,$$

it follows from (3.7) that for each θ , $0 \leq \theta < 2\pi$ and $R \geq 1$,

$$\begin{aligned} \left| p(k^2 R e^{i\theta}) \right| &\leq \left\{ \frac{k^{2n}(R^n - 1)}{1 + k^{n-\mu+1}} + k^n \right\} M(p, 1) \\ &= \frac{k^{2n}R^n - k^{2n} + k^n + k^{2n-\mu+1}}{1 + k^{n-\mu+1}} M(p, 1). \end{aligned}$$

This implies

$$\max_{|z|=R \geq k^2} |p(z)| \leq \frac{R^n + k^n(1 + k^{n-\mu+1}) - k^{2n}}{1 + k^{n-\mu+1}} M(p, 1),$$

which completes the proof of Theorem 1. $\square$

Proof of Theorem 2. If $p(z) \neq 0$ in $|z| < k$, $k < 1$ and $0 < t < 1$, $k < t$, then $P(z) = p(tz)$ has no zero in $|z| < k/t$, $k/t < 1$. Applying Lemma 1 to the polynomial $P(z)$, we get

$$M(P', 1) \leq \frac{n}{1 + (k/t)^{n-\mu+1}} M(P, 1),$$

which is equivalent to

$$M(p', t) \leq \frac{nt^{n-\mu}}{k^{n-\mu+1} + t^{n-\mu+1}} M(p, t). \quad (3.8)$$

For $0 < r < \lambda \leq 1$ and $0 < \theta \leq 2\pi$, we have

$$p(\lambda e^{i\theta}) - p(re^{i\theta}) = \int_r^\lambda e^{i\theta} p'(te^{i\theta}) dt.$$

This implies

$$\left| p(\lambda e^{i\theta}) - p(re^{i\theta}) \right| \leq \int_r^\lambda \left| p'(te^{i\theta}) \right| dt,$$

which gives

$$\left| p(\lambda e^{i\theta}) \right| \leq \left| p(re^{i\theta}) \right| + \int_r^\lambda \left| p'(te^{i\theta}) \right| dt,$$

which further implies

$$M(p, \lambda) \leq M(p, r) + \int_r^\lambda M(p', t) dt.$$

Combining the above inequality with (3.8), we get

$$M(p, \lambda) \leq M(p, r) + \int_r^\lambda \frac{nt^{n-\mu}}{k^{n-\mu+1} + t^{n-\mu+1}} M(p, t) dt. \quad (3.9)$$

If we choose

$$\phi(\lambda) = M(p, r) + \int_r^\lambda \frac{nt^{n-\mu}}{k^{n-\mu+1} + t^{n-\mu+1}} M(p, t) dt,$$

then

$$\phi'(\lambda) = \frac{n\lambda^{n-\mu}}{k^{n-\mu+1} + \lambda^{n-\mu+1}} M(p, \lambda),$$

and inequality (3.9), gives

$$\phi'(\lambda) - \frac{n\lambda^{n-\mu}}{k^{n-\mu+1} + \lambda^{n-\mu+1}} \phi(\lambda) \leq 0.$$

Multiplying the above inequality by $(k^{n-\mu+1} + \lambda^{n-\mu+1})^{-\frac{n}{n-\mu+1}}$, we get

$$\frac{d}{d\lambda} \left\{ (k^{n-\mu+1} + \lambda^{n-\mu+1})^{-\frac{n}{n-\mu+1}} \phi(\lambda) \right\} \leq 0,$$

which implies that $(k^{n-\mu+1} + \lambda^{n-\mu+1})^{-\frac{n}{n-\mu+1}} \phi(\lambda)$ is a non-increasing function of λ in $(0,1)$. Therefore for $0 < k < r < \lambda \leq 1$, we have

$$\phi(r) \geq \left(\frac{k^{n-\mu+1} + r^{n-\mu+1}}{k^{n-\mu+1} + \lambda^{n-\mu+1}} \right)^{\frac{n}{n-\mu+1}} \phi(\lambda).$$

Now since $\phi(r) = M(p, r)$ and $\phi(\lambda) \geq M(p, \lambda)$, we get

$$M(p, r) \geq \left(\frac{k^{n-\mu+1} + r^{n-\mu+1}}{k^{n-\mu+1} + \lambda^{n-\mu+1}} \right)^{\frac{n}{n-\mu+1}} M(p, \lambda).$$

Which completes the proof of Theorem 2. □

REFERENCES

- [1] N. C. Ankeny and T. J. Rivlin, *On a theorem of S. Bernstein*, Pacific J. Math., **5** (1955), 849–852.
- [2] A. Aziz, *Growth of polynomials whose zeros are within or outside a circle*, Bull. Austral. Math. Soc., **35** (1987), 247–256.
- [3] K. K. Dewan and Sunil Hans, *Growth of polynomials whose zeros are outside a circle*, Ann. Univ. Mariae Curie-Skłodowska, Lublin-Polonia, LXII (2008), 61–65.
- [4] K. K. Dewan and Sunil Hans, *On extremal properties for the derivative of polynomials*, Math. Balk., **23** (2009), 1–8.
- [5] N. K. Govil and Q. I. Rahman, *Functions of exponential type not vanishing in a half plane and related polynomials*, Trans. Amer. Math. Soc., **137** (1969), 501–517.
- [6] G. Pólya and G. Szegő, *Aufgaben und Lehrsätze aus der Analysis*, Springer-Verlag, Berlin, (1925).
- [7] T. J. Rivlin, *On the maximum modulus of polynomials*, Amer. Math. Monthly, **67** (1960), 251–253.

(Received: May 17, 2010)

(Revised: August 25, 2010)

K. K. Dewan

Department of Mathematics

Faculty of Natural Sciences

Jamia Millia Islamia (Central University)

New Delhi- 110025 India

Sunil Hans
Department of Mathematics
Manav Rachna College of Engineering
Sec. - 43, Aravali Hills
Delhi-Surajkund Road
Faridabad - 121001 India
E-mail: sunil.hans82@yahoo.com